November 6, 2018
Periods 1,2,4,6

Warm Up - remove pages 167-168 from your packet and

—place-on-desk
U JaiN.
—Class Work=pgs173-174 introduce together, finish-with————

table partner work. Pg. 175 partner work and go over
together.

Homework - pgs. 177-178 #s 7-15 all
Prepoare for Lesson 7.1 Quiz tomorrow.
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EXPLORE ACTIVITY 1 W Ty sRras eReLl

- - -
Finding Ratios from Tables
Students in Mr. Webster's science classes are doing an experiment that requires
250 milliliters of distilled water for every 5 milliliters of ammonia. The table shows
the amount of distilled water needed for various amounts of ammonia.

are | toqumhméol equivalent. l

6 How can you use your answer to @ to find the amount of distilled
water to add to a given amount of ammonia?

@ Complete the table. What are the equivalent ratios shown in the table?

100 _ i 200 _ 250
cEe - - B 5
Reflect

1. LookforaPattern When the amount of ammonia increases
by 1 milliliter, the amount of distilled water increases by

milliliters. So 6 milliliters of ammonia requires milliliters of

dictillad water.

Is the relationship between
the amount of ammonia and
the amount of distilled water
additive or multiplicative?




EXPLORE ACTIVITY 2 % T 6.RP.13a

Graphing with Ratios
Copy the table from Explore Activity 1 that shows the amounts of
ammonia and distilled water.

X Ammonia (mL) 2
100 lsb ns 200

\ Distilled
water (mL)
B Write the information in the table as ordered pairs. Use the
amount of ammonia as the x-coordinates and the amount of
distilled water as the y-coordinates.

s

3 35

250

@496, )65 ). .200.(5250

Graph the ordered pairs. Because fractions and decimals can
represent amounts of chemicals, connect the points

Describe your graph.

Distilled Water (mL)

2 4 6
Ammonia (mL)

A

For each ordered pair that you graphed, write the ratio of the
y-coordinate to the x-coordinate. ‘I'

The ratio of distilled water to ammonia IE ; Oow are the ratios in

2.100)
(3,150
Conjecture Whst do you think s tre forevery pointon the graph? (3 5 ) i (' ?5
Adoame halwy’— (4,200

©related to this ratio?

The point (2.5, 125) is on the graph but not in the table. The ratio of the
ycoordinate to the x-coordinate is How is this ratio related to

the ratios in @ and @ ?

2.5 milliliters of ammonia requires milliliters of distilled water

in ey
g

I

an

Reflect
2.

5010 ! (5)

Communicate Mathematical Ideas How can you use the graph to find
the amount of distilled water to use for 4.5 milliliters of ammonia?

250

a b
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st G.RP.13a, G.RP.13b

The Webster family is taking an express
train to Washington, D.C. The train
travels at a constant speed and makes
the trip in 2 hours.

A Makea table to show the distance

the train travels in various amounts
of time.

iy

STEP1 | Write a ratio of distance S

to time to find the rate.

distance _ 120 miles __ 60 miles _ ¢ miles per hour

time  2hours — 1hour
STEP2 ) Use the unit rate to make a table.
Time (h) | 2 ] 3 35 4 H
Distance (mi) 120 180 210 240 300
B Graph the information from the table. ¥
= 300
STEP1 ) Write ordered pairs. Use Time as the E 20
x-coordinates and Distance as the & 180
y- coordinates. s 120 2.120
9 . 7 — . & 60
(2, 120), (3, 180), (3.5, 210), (4. 240),
v (5. 300) B TS
Time (h)

STEP2 | Graph the ordered pairs and connect the points.

cemase TIION Tl_ —_ _*

Online Azsssarnant
et Indnrvantion.

nteractrve txample




1. The ratio of oxygen atoms to sulfur atoms in
sulfur dioxide is always the same. The table
shows the numbers of atoms in different
quantities of sulfur dioxide. Complete the
table. (Explors Activity 1)

Sulfur atoms 6 ] 27 ‘
Oxygen 1
atoms 2 54 |

table?

What are the equivalent ratios shown in the

@sssorma quesmon cuscrm

6. How do you represent real-world problems involving ratios and rates with
tables and graphs?

2. Use the table in Exercise 1 to graph the
relati between sulfur atoms and
oXygr ms. (Explore Activity 2)

0 6 1218 24 30
Sulfur Atoms

3. Stickers are made with the same ratio of 4. Graph the relationship between the width
width to length. A sticker 2 inches wide has and the length of the stickers from
alength of 4 inches. Complete the table. Exercise 3.(Explors Activity 2)
(Explore Activity 1)

20

Width (in.) 2 | 4 ’ 7 T1e

Length (in) [ 16 -E 2

— - —_— [

What are the equivalent ratios shown in the 3 4
table?

O 2 46 810
Width (in.)

5. Five boxes of candles contain a total of 60 candles. 15
Each box holds the same number of candles. Complete
the table and graph the relationship. (Example 1) =

72

Boxes 5 8 I g -

Candles 120 -
0 2468 10
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Nov. 6
Period 5

Warm Up- place pg. 89 on your desk
Complete pg. 92 all #s

Class Work - Quiz Lesson 4.2

Homework - read and complete pgs. 93-94 all #s










